SER234EE 2NN KkE ERE

(FRANE -8 AARLPA L Sedbdu b Bid6fnPl )

53 (S @A
JEFupE B 5| R | Sl LSRR (s 57 | %A (L) 100m
B | SR Ny 2 [ EZEA KBTI 400m
BAL | FtlirE AL T4—IVR 3fr | LEAKR(SI) 800m
A | RS (L) 1500m
Sz [VLEEHif (F ) 1500m
27 |VLEEH (2 A) 5000m
5L |FF %K (BT 5000m
6L |/, (1) 5000m
2L | R HP I (1) 400mH
ofr |F EEXKM (ST 3000mSC
6fi [JEEEW (5 T) 3000mSC
2fi AL — (B L) 5000mW
6L [ZHEET(5T) 5000mW
B (ST (- m g - R3E) 4 400mR
ARE (T (Rf-im o - B4 E) 4X400mR
5L |5 H G () ek
207 | ZR A () Fernk
207 | R H 24 (Rii) =B
5N |G R () ot
6L |TEKER (GHE) R
| Al (EBdeER |[RE 207 | A% filhise (k) 200m
BTN [ S ST B 4 B [AEArE R (12 dk) 400m
5L |k T (FERE) 400m
6L |4 bR G Fn) 800m
B 1A A6 (D) 400mH
ofr e db (R - 2R - ALFT - AR) 4X100mR
PR |PEdt O\ ek Rl - 2%) 4 400mR
AL [N (Feps) bk
VST g | o |
By b — B 3L [ EKL
V7 b7 = Al | AL (EEE e
* E| 5 3L [(TLAFEH () 60kgik
3N 8 #hFEER) 90kgik
3L | BRI K (T27E) 100kg Bk
% 3f (VLB (2 3R) 52kgik
= | B | Shr [FER AR
G | 5 | W | B T3 m ke 2 [/ R (BT fEHAKE
(f 43 -2 1 - ) 20 |14 KB (R » 7 E BPD
AQT | VR (R 1) R =R
3fiz (PR (BT) » 7 E BB
B 1A fERE1 (T R =RVl
AR |fifFEEVHE (55 ) » FEH B0
2 (& A (ST v 7 E BIEATE
207 | fi R RVHE (& 1) 0 i B gkhe

173



SER234EE 2NN KkE ERE

(FRANE -8 AARLPA L Sedbdu b Bid6fnPl )

BB (IS i A
| | | 3 [k (Byim) ARG
€l SRV =T BT SR il afr [VNEEE (i) AR A
20 /N E (Rsh) o 7 H BBk
AN | A0 EEE (1) =S
AfiT. (ALK FBE (s 4) QLR N
2fr [/NER E (FH) B =hIREoE
3L |3 Hdp I (S i EIRESES
AN | A0 EEE (R H) 1 i H BdA
ARz /N (Fsh) » FEE BPA
B | B | 24n |MEREHEKR (HRRE (5373 E I O B AKRE
(VB H - By /9L o (- S B |3 GE) " T 5 BIAT A7
EAS = FHT - 7E) B | GF) o H B
I | W | e ke RS B | BT (k) fEARRE
(25[1 H) Apr (FEE 7 (o) B AKRE
(- FEE-BTA R O B | RET (k) » il H R -
AR /N - TR ofr |FEE Ay (e to) A BRI =
B | RET (k) y FERTT
x5 | 5 | 307 | S T3 mis
VIZRR—| B | 3L [AEER
1o | R (e Lo T
K vk Gt k)| 55 307 |FEZERES: (FFRA) 100m &
x| R | B EARTR () 200mH
W B | B EARER (F2F) 400m A
ANE [AABRHE— (f2Rd) 400mH
207 | RTFFER (H22F) 100m
3L | ARSFFER (7) 200m>F-
3 (Mo (B e Sy - R - AR 5F) 800mR
23 ohr [HRAFY (Bu=) 800m H
A7 [FT EHE (LT 800m
ARL | PSR (E5) 100mi¥
3L | TSR (S 200m¥
20ir PR B () 100m/'#
KUK (FRGA)| % 307 |l AL (Bo) TBRIA
NRIv b & | 3L | L1t
A — N5 R | PE R i - R A= 15 ) 27 NAAI
'S 2L [SEARDE Ix () ST AR
3w N | R A AAHE H—| Af7 |JoEKHL B %5 (B VEA) FJik/n
(PR 30 |FEPE (o BB IR S (6 | Ik o b
207 | BB (FE ) Y=y "= SR
3 |HHE—H(FL) Y=y —#%SR
A7 [KEt () Y—Hy N —#ESR

2/3



3.3
SERR23EE SNNKE ENIRRIE  (FRans -8 A4l b Sk iutbE EiZehrel 1)

B (LS ®\ A
a v N 2| B R s AR A —| 4fr |9 LB - R AER (EVEA) FJik/m
(PR 0L (FEFE (L FaAs - PN - ) FIT b
1B (22 W ik (FE7E) Y=ty ISR
B # HE|F| 3 |fEAEK TS [FER (AT - AR BE R0 - F—LAT
ATHITR)
TS 1R AEE A (BERY) A7k
B [REEZ I GER) Tkmf A LT ATV
3N | AT (BEAY) Z
1B | AR E LR (FED) rAYy
vAY T S | AR (E5R) 50kgik
WS [FHORT B R (BESE) 66keik
B 1A HAST) T4kgi
3L [ZEPY4R5L (BT 84kg#k
3fL =R EAE () "
3Nz BT R (ST 120kgik
R o ro—| B B G0 B e ] s
2 | B |7 P 2 AR
7 E T 7| | R (R ER
7= T = 3N | E IR (A
1 | B | AR mAR 2hr | HEBRIE (Fd)
L 3L |Bevk (@G T
R | e (I ) FERLLS
0L |BUEHHE (55) byt
3L | PR () e
X —| 5B AL | e () WFFAT T
e | 0L |FFEER LA
eI Az |l ) IHETE (Fepd) F=7'N




